
SECTION-C / 'lI1T-C

SCIENCE AND SIMPLE ARITHMETIC
1"

71. Select the wrong statement.

I(A) When water is converted into ice
at 0 °C, its volume decreases

(A) ;;fi[ ~ 0 °C l:R «It 'ij qltciRffi iroTt m
~ aw«R 'ij q;Jft 3lRft ~

(8) Glycerol (glycerine) is an alcohol

(C) Glass is not a true solid

(0) Photosynthesis is achemica1
reaction (0) ~-~ ~ JICfiR c#it <I~I4f.1Cfi

~~

72. Amoeba is a
72. ~~

(A) unicellular plant
1(Cfic6)~ICfi ~(A)

(8) unicellular animal
(8) 1(q;c6)~ICfi ~

(C) small insect
(C) ~~

(0) type of small fish
(0) 'I(Cfi JICfiR c#it ulit ~ I

I
73. Which of the following is a conventional

source of energy?

(A) Sun (A) lff

(8) Wind (8) ~

(C) Water (C) ~

(0) Coal (0) ~
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74. Select the amphibian among the
following.

(A) Snake

(B) Dog

(C) Frog

(D) Earthworm

75. Baking soda is

(A) sodium chloride

(B) sodium hydroxide

(C) sodium carbonate

(D) sodium bicarbonate

76. Brass is an alloy of

(A) copper and aluminium

(B) aluminium and zinc

(C) copper and zinc

(D) copper and tin

13-PARSK/2-A

(A) "ffiq

(B) ~

(C) HGCfi

(D) ~3lT

(C)~~

(D) cn'ftRq fl;f
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77. Night blindness OOqJJ$ due to the
deficiency of which of'.the following?

(A) Vitamin ~2

(B) Vitamin E

(C) Vitamin A

(0) Vitamin C

78. Which of the following is not a part of
flower?

(A) Corolla

(B) Calyx

(C) Petiole

(0) Androecium

79. Which of the following is the
non-crystalline form of carbon?

(A) Diamond

(B) Graphite

(C) Coke

(0) Fullerene

80. Which is not a star among the
following?

(A) Sun

(B) Sirius

(C) Polestar

(0) Venus

13-PARSK/2-A

(A) ~~2

(B) furftR E

(C) furftR A

(0) furftR C

(A) ~

(C) ¥

(0) ~

79. f.fkf -ij ~ ~-~ Cfil'GR ~ :-$i&Rcll(j ~
t?
(A) tro

(B) ~

(C) q;)q;

(0) ~

(A) ~

(B) ~

(C) wrnro I(0) ~
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81. If the numerator of a fraction ·is 81. ~ ~ ~ q;{ 3ffi 12% G«9T.~ ~ ~
increased by 12% and its denominator ~ 2%~-mr~, olmq;{~ ~m~
is reduced by 2%, then the fraction 7

becomes ~. The original fraction is tll@fmJt
7

4 (A)
4

(A) - 55

3 (B)
3

(B)
4 4

2 (C) 2(C) -- 33

5 (0)
5

(0)
6 6

82. The number of terms, which are equally 82. 200 (fCJi 3 ~ 4 ~ ~ ~ ~ ~ qG1 c#it
divisible by 3 and 4 up to 200, is ~t
(A) 18

(A) 18
(B) 17

(B) 17
(C) 16

(C) 16
(0) 15

(0) 15

83. Vulgar fraction form of 10· 036 is

(A) 10 2~5
83. lO· 036 q;{~ fmJ~ t

(B) lOiJo
(A) 102~5

(C) 10~
(B) lo1do

(0) 109\\ (C) 102~O

(0) 109\6984. The value of

( 0·125+0·027 )
O· 5 x O· 5 + 0·09 - O· 15 84. ( 0·125+ 0·027 )q;{ ~ t

O· 5 x O· 5 + 0·09 - O· 15
is

(A) 0·08 (A) 0·08

(B) 0·2 (B) 0·2

(C) 0·8 (C) 0·8

(0) 1 (0) 1
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i
85. In Roman system of numbers, M 85. ~ <fit "i\l:R ~ .qMmm ~ i

represents

(A) 500
(A) 500

(B) 1000
(B) 1000

(C) 100
(C) 100

(0) 50
(0) 50

86. The difference of the place values of
86. 278564083.q Gl;il 8 ~ ~ lfR1 .q ~

both of the 8's in 278564083 is i

(A) 4 (A) 4

(B) 799912 (B) 799912

(C) 7999920 (C) 7999920

(0) 799920 (0) 799920

87. In the magic square 87. ~crf

18 11 16

13 A C

B 19 12

18 11 16,

13 A C

B 19 12

the respective values of A, B, C are
.qA, B, C ~ t{Rt Sfilm:

(A) 14, 15, 17

(B) 17, 14, lS

(C) 17, 15, 14

(0) 15, 14, 17

(A) 14, 15, 17

(B) 17, 14, 15

(C) 17, 15, 14

(0) 15, 14, 17
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88. The least prime number is 88. ~ mtt ~ ti&rT t

(A) 1 (A) 1

(B) 2 (B) 2

(C) 3 (C) 3

(D) 5 (D) 5

89. Arrange the prime factors of 1729 in
ascending order. The difference between
two consecutive prime factors is

89. 1729 t ~ !,!'lH@usl Cfl1 ~ Sfill it
~ I ~ SfitWRf ~~ !,!'lH@usl it 3MR t

(A) 6 (A) 6

(B) 5 (B) 5

(C) 3 (C) 3

(D) 2 (D) 2

90. 15 - (-3){4-7 - 3}+ 3[5+ (-3) x (-6)] is 90. 15 - (-3){4- 7 - 3}+ 3[5+ (-3) x (-6)] GRm

equal to t

(A) 23 (A) 23
15 15

(B)
15

(B)
15-

23 23

(C) 15 (C) 15

(D) 363 363- (D)23 23
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91. The smallest fraction from the fractiqns 91. f.lJOOl~fut(filrnl
6 13 15 19 5 6 13 15 19 5

U' 18' 22' 36'
- U' 18' 22' 36'

-
6 6

is ih)~~f\rn~

(A) 19 19
36

(A) -
36

(B)
5 5- (B)
6 6

(C) 6 6
11

(C)
11

(0)
13 13
18

(0)
18

92. The smallest rational number is 92. ~~~t

(A) 0 0(A)
1 1

(B) 1 (B) 1

(C) -1 (C) -1 I
(O) Not determinable ~ ;rtf c#it \;['f ~ t(0) ~

93. If ~ - ~ is expressed as a decimal,

it will represent a

93. ~ ~ - 1. cti'r~~(*?\ct~ -ij ~ M ~,
4 2

m ~ ~ Cfi«fi t

(A) terminating decimal

(B) non-terminating repeating decimal

(C) non-terminating
decimal

non-repeating

(0) None of the above
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94. The value of (T1 - 8-1)-1 - (3-1 -4-'1)-1
is

(A) 68

(B) 44

(C) 56

(D) 12

95. The least number, which when
multiplied to 5400 gives a perfect cube,
is

(A) 3

(B) 4

(C) 5

(D) 7

1 3
96. (10000)2 + (10000)4 is equal to

(A) 10

(B) 1

1
(C) 10

13-PARSK/2-A

(A) 68

(B) 44

(C) 56

(D) 12

95. C!6~ ~, ~ 5400 ·tfil ~ em 1R

~HCf)t1 ~ ~ ~ ~ >mf irnt t t

(A) 3

(B) 4

(C) 5

(D) 7

1 3
96. (10000)2 + (10000)4 ~ ~

(A) 10

(B) 1

1
(C) 10
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97. In 3+ 2x = 273 + 64 2" ,t'h~ value ofx is

(A) 2

(B) 3

(C) 1

(0) 1
2

98. 2The value of (0· 00243) 5" is

(A) 0'09

(B) 0-9

(C) 0'03

(O) 0-3

99. The sum of 1+ 3+ 5+ .._+ 119 is

(A) 3630

(B) 3540

(C) 3660

(0) 3600

100. 7502 - 7492 is equal to

(A) 1499

(B) 1500

(C) 1501

(0) None of the above

13-PARSK/2-A

97. 3 + 2~ ;"'271" + 64 ~ 11x (fiTlfR ~

(A) 2

(B) 3

(e) 1

(0) 1-
2

298. (0· 00243) 5" (fiTlfR ~

(A) 0'09

(B) 0'9

(C) 0'03

(0) 0'3

99. 1+3+5+ ... + 119(fiTmrrt

(A) 3630

(B) 3540

(C) 3660

(0) 3600

100. 7502 - 7492 iRTGR~'

(A) 1499

(B) 1500

(C) 1501

(0) ~11~q;)f~

***
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